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QUESTION 33
Which two statements about the capabilities of all Cisco AnyConnect 3.0 Secure Mobility Client for Windows are true? (Choose
two.)
A. It supports always-on connectivity by automatically establishing a VPN connection as needed.
It multiple VPN gateways exist, load sharing occurs in a round-robin fashion.
B. The order of policy enforcement is as follows; dynamic access policy, use attributes tunnel group, group policy attributes.
C. It supports session persistence after hibernation or standby.
D. Trusted Network Detection allows the connection to be established without any user intervention (authentication), if the client
islocated inside the office.
E. Itisexclusively configured by central policies; no local configuration is possible.

Answer: CD
QUESTION 34
Which two options show the correct associations of use cases with VPN technologies? (Choose two.)

A. SPorlargeenterprise: MPLS, VPLS, SSL, VPN

B. site-to-site VPN: GRE, DMVPN, FlexVPN, GET-VPN, IPsec
C. sditeto-site VPN: OTV, DMVPN, GRE, GET-VPN, IPsec

D. client access: SSL VPN, EZ-VPN, FlexVPN, MPLS

E. SPorlargeenterprise: MPLS, VPLS, OTV

Answer: BE

QUESTION 35

Which are the two benefits of the "one policy" approach in the Cisco Unified Access solution? (Choose two.)
Context-based control

Comprehensive visibility

Resiliency and scalability

user-specific services

. uncompromised experience

Answer: AD

Explanation:

http://www.cisco.com/en/US/netsol/ns1187/index.html#~benefits

QUESTION 36

Which three are benefits of a Cisco Borderless Network that go beyond TCO calculation? (Choose three.)
A. highavailability

B. cost per port

C. lowest power consumption

D

E

moow»

enhanced security
integrated services
Answer: ADE
QUESTION 37
Which three of the following statements correctly describe the benefits of Cisco routers as an important part of the Cisco Borderless
Network? (Choose three.)
A. MACsec issupported only on high-end routers.
B. Cisco router security featuresinclude MACsec, BPDU Guard, and host I PS functionality.

Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com | Pagel/2 |


http://www.ciscovceplus.com/?p=3346
http://www.ciscovceplus.com/?p=3346
http://www.passleader.com/648-375.html
https://drive.google.com/open?id=0B-ob6L_QjGLpMFhFVnhhZWZnWlk
http://www.cisco.com/en/US/netsol/ns1187/index.html#~benefits
http://www.profprojects.com/?page=upm

DhisipstOtasiast ridiedihcbBr aiRdssihpaderdNactCtecddsisim Dumps - CCNA, CCNP, CCIE, DevNet, CCDE Certification Exam
Export date: Sun Mar 24 4:22:38 2024 / +0000 GMT

C. Cisco offersanumber of scalable and easy-to-maintain VPN solutions, including GET VPN and DMV PN.

D. Cisco routers support zero-touch deployment for simple and fast deployment of new remote locations.

E. Cisco offers performance-based routing, which adapts routing decisions based on the requirements of certain traffic flows.
Answer: CDE

QUESTION 38

Which two of the following statements correctly describe service modules available for the 3560-X and 3750-X switches? (Choose
two.)

A. The C3KX-SM-10G service module provides flexible netflow.

B. The C3KX-SM-10G service module offers MACsec encryption at line rate.

C. The C3KX-NM-10GT service module offers two 10 Gigabit Ethernet SFTP+ ports.

D. The C3KX-NM-10G and the C3KX-NM-10GT service modules provides flexible netflow.

Answer: AB

Explanation:

http://www.cisco.com/en/US/prod/collateral/switches/ps5718/ps6406/data_sheet ¢78-584733.html

QUESTION 39

Which three of the following are recommended minimum required building blocks for a Cisco midmarket BY OD solution? (Choose
three.)

A. Cisco Aironet 1600 Series Access Point

B. Cisco virtual wireless LAN controller

C. Catalyst 4500-X Series Switch

D. Cisco ASR 100 Series Router

E. CiscoBusiness-Class Email

Answer: ABC

QUESTION 40

Which two Cisco products can ensure the "one policy" platform in the Cisco Unified Access solution? (Choose two.)
Cisco Mobility Service Engine

Cisco ldentify Service Engine

Cisco AnyConnect

CiscoWLC

Cisco Security Manager

. Catalyst 4500-X Series Switch

Answer: AB
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